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Watch these videos to help you
https://www.bbc.co.uk/bitesize/topics/znwj6sg/resources/1
Enjoy playing these games 
https://primarygamesarena.com/Play/Minus-Numbers-In-Outer-Space-409
https://www.math-salamanders.com/image-files/3rd-grade-math-games-pit-of-doom-minus-20-to-5.gif
To interpret negative numbers in context
WILF:
· Draw a number line
· Place zero in the middle
· Place your negative number on the left of zero
· Place your positive number on the right of zero

· Jump from the negative to zero- make a jotting
· Jump from zero to the positive- make a jotting
· [image: ]Add your two numbers together
Example:
What is the difference between -16 and 24.
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    24
  +16
    40
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Game
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1 across= 10-10= 0. 0-35= -35

Challenge
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Marlon

Jerry and Marlon are counting backwards in 5s.
What will their next five numbers be?
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Complete the sequences.
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Wirite the numbers that are missing from the
visual representations.
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Draw
Draw an arrow to show the position of each number.

-25, 36, -17
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Different ways
The difference between a number and -7 is 12.

What could the number be?
There are two possible answers!

e I p

-7 0
Show your thinking using the number line.
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 The depih of  minashaft wis moasused ot
- -250m. The second had a depth of ~75m.
© A third mineshaft was three times as deep |
 as the second.

- Which shaft is the decpest?
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